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Addition

EYFS to
Year 1

Nursery

Solve real world
mathematical
problems with
numbers up to
Reception
Explore the
composition of
numbers to 10.
Year 1

Add and subtract
one digit and two
digit numbers to

2+5=

2+5=

raadd OORTTE

Count out each set
then find the total

Count on
from first
number.
Cover first
number or
display as

2+5
Leading to

5

+

5 + 2 (without
counters)

Recognise the biggest
number in the
calculation and count
on from it (using
objects for smaller

2+5
5+8
4+13
11+7

0 123 456 78 9 101112 1344145

Recognise the biggest
number in the
calculation and count
on from it mentally or
using number line

6 + 8 becomes

Partitioning the smaller number
and use the tens number to
bridge calculation

5+ 17 becomes
17+3+2

20, including .
zero number if necessary)
Year 2 6+18 6 + 58 TO + TO within 100 Addition of three single | Special cases + 9
By counting on from By partitioning the digits — look for bonds
Add and the largest number smaller number 37+ 44 you know and doubles | 9 + 33
subtact through the multiple
9
concrete 78920202284 2] 2‘0 ; 2'3 A 3|o of 6+9+3
objects, TERLAZBENGE HRL 10 6+3=9 —
ictorial 44 74 8081
RS, 58 + 2 + 4 Double 9 = 18 33 42 43
and mentally, o
including: , R
58 60 64 40 + 30 = 70 Whgr_1 they’re ree_ld_y, Using D.oubles
a two-digit 7+ 4=11 addition of two digit + | 29 + 30 is the same as
ber and - =
oo an 30 +46 _ 22 4+ 50 70 + 11 = 81 f2 dlglt"numbers 30+30-1
o By counting on in tens By counting in groups ormaily

Rl e of ten and one from | Or .
tens 44 + 40 -3 =81

- 46 56 66 76 m Recall of facts to 20 69
two fwo-digt and by recall of

largest number adding multiples of 145

adding three
one-digit
numbers

50 7072

10 will support this
thinking




Addition

Year 3

Add and
subtract
numbers
mentally,
including:

= athree-digit
number and
ones

= athree-digit
number and
tens

= athree-
digit number
and Two 2-
digit numbers
across 100

Add and
subtract
numbers with

Partitioning the
numbers for TO + TO

across 100

55 + 78

70 +50=120
8+ 5= 13
120 + 13 =133
55+ 78

78 + 50 =128

128 +2 + 3 =133

Recall of facts to 20
and by adding multiples

Special cases
66 + 79

80 +66 — 1 = 145
Using doubles

76 + 78
Double 70 + double 6 + 2
Double 70 + double 8 — 2

Recall of facts to 20
and by adding multiples
of 10 will support this
thinking

Partitioning
Adding ones and tens
to a 3 digit number

356 + 8
356 + 4 + 4 = 364
356 + 70

350 + 70 + 6 = 426

356 + 600
300 + 600 + 56 = 956

Addition of three digit
+ 2 digit numbers and
3-digit

+ 3 digit

576
69

645

479
466
945

Addition of numbers with decimal
places

1.5+15
Double 1 and double 0.5

1.6+1.7
1.7+03+13=3.3

Eg,tt(;ttf,ﬁg of 10 will support this

formal written | thinking

methods of

columnar

addition and

subtraction

Year 4 Using mental strategy| Addition of three digit| Addition of numbers
where + three digit and to 2 decimal places

Adg and appropriate four digit + four digit 4.4

subtract

numbers with 576 ?i S

up to 4 digits 1460 + 499 369 8.0

using the t _—

methodeof | | 1460 +500— 1= 1959 | 945

columnar

addition and

subtraction 2560 + 3570 57.8

where 6000 + 130 = 6130 7268 ,46.6

appropriate 5179 104.5

2447




Addition

Year 5

/Add and subtract
numbers
mentally with
increasingly large
numbers eg 5-
digit — 4-digit
multiple of 10

IAdd and subtract
whole numbers
with more than 4

Using mental
calculation by
counting on

45678 + 3500 = 49178

45678 + 3000 = 48678
48678 +500 =49178

5.78 + 2.45=8.23

Column addition

Mixed decimals
57 .89 + 46.6 + 23.785

23.785
57.8
46.6

2
128.275

digits, including 578 + 2 =7.78
using formal _
written methods /.78 +04= 818
(columnar 8.18 + 0.05 =8.23
addition and
subtraction)
Year 6 Partitioning Column addition with  [Using all 4
5 or 6 digits operations
4.578
Perform mental + 0.008 = 4.586 8765 6+7%x8=62
g:al::uollations_t,h because multiplication first
mixed operations [6-568 + 0.079 = 6.647 191 614.8 + ;hoegrzgﬂggn when there are
and large 6.568 + 0.07 = 6.638 8413
numbers

6.638 + 0.009 = 6.647

2780 — 910 + 1220 can
be reordered to 2780 +
1220 — 910= 3090 as

long as the symbol

moves with the number
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Subtraction

EYFS to
Year 1

Nursery

Solve real world
mathematical
problems with
numbers up to
Reception
Explore the
composition of
numbers to 10.
Year 1

Add and
subtract one
digit and two
digit numbers
to 20, including
zero .

5=2

Count out 5 and remove 2 to
find the answer

000 90y

7-3
Using a 10 frame to subtract -
The children may subitise how
many are remaining without

having to count them all.

7-2

Count back on the number line
by saying start on 7, count back
1,2, what number are you on?

AA

[112]3[4al5]6[7]8[9]10]

0123 4567809 1011213415

Count backwards mentally or
using a number line.

15-5
Use tens and ones when the
calculation doesn’t bridge 10

135

N

0123456789 10141213446

becomes 13 —3 =2

Partitioning the number being
subtracted through the multiple of
10 mentally or using a

number line

Difference

7 — 6 or find the difference between 7 and

6

TITIobI T h

Year 2

Add and
subtract
numbers using
concrete
objects, pictorial
representations,
and mentally,
including:

a two-digit
number
and ones

a two-digit
number and
tens

two two-digit
numbers

adding three
one-digit
numbers

Subtracting by counting
backwards in tens or ones

28-4

AL

022228M2527272829230

45-20

Use tens and ones when the

IIMIIII

| = e s p
10 20 30 1d®50 60 70 20

calculation doesn’t bridge 10

Partitioning
28-8=20
76-70=6

Subtracting in groups of
ten(rather than counting in tens)
or groups of ones (by partitioning
number being subtracted

through multiple of 1032 — 7
32-2-5
A AN R T

| I T N I I
0 20 30 40 50 60 70 80

64 — 40
Use a number line or
manipulatives

L1 L1 INT
| I 241 | | lsa 1 |
10 20 30 40 50 6O 70 80

40 50 60 70 80

This calculation bridges
through 10 so we need to
partition the 16 into 2/4/10 or
12/4 and subtract

Special cases

When subtracting 9 or 19

AN O\
AN

28-9
-10
+1
1819 28
Or28-10+1

Difference

23-19

j=L} V1| I
78172022287

When numbers are close together, count
on from the smallest number through the
multiple of ten or count back from the
largest to the smallest through the multiple
of ten.




Subtraction

Year 3 Partitioning TO-TO Subtraction up to Expanded column Difference
Add and Subtracting ones and | By counting back in three digits subtraction (see also subtraction up to
ﬁﬂ?ﬂ;‘fs tens from a 3digit tens and ones three digits)
mentally, number 347 — 165 =182
i”;']Udingf " 91 -35 123 -86 =37 103-87=16
atnree-digi 567 — 60 = 507 91-30-1-4 200 140 7 When numbers are close together, count
number and - 23
oex | 745700 =45 N 300 40 7 O s it g
a three-digit 832 -2 =830 m m 100 60 5 largest to the smallest through the multiple
pumber and o " | 8690 100 123| 100 80 2 of ten.
a three-digit 364 -8 4 10 3 3
pumberand | 364 — 4 — 4=356 Special cases _ W
two 2-digit Column subtraction 10
numbers

93 -39 as 100 103
across 100 356~ 70 9340 + 1 £5.67 — £2.20 8756 15 87 90
+and - 356 — 50 — 20 = 286 716 — 693= 23
numbers with £5.67 — £2.00 = £3.67 92 48 . 16
up to three . = = o
formal written 956 — 600 = 356
methods of 693 700 716
columnar
addition and
subtraction
Year 4 Partitioning Using mental Subtraction up to Expanded column Difference

calculation when four digits subtraction

1678 — 600 = 1078 appropriate by 5003 — 3897= 1106

Add and 2689 — 80 = 2609 counting back £50 — £28.25 = £21.75 | With three digit numbers asY3 103
subtract 6839 — 9 =6830 and 4-digit numbers m
Coeadats | 7484 — 1100 = 6384 | 5678 — 2342 = -~
up to 4 digits - = - =
using the 5678 —2000= 3678 | SN\ o ——_ | 35262678658 3897 4000 >003
formal written 3678 — 300 = 3378 1003
methods of _
addition and 3338 — 2 = 3336 3000 300 20 6
subtraction 2000 600 70 8
where
appropriate 600 50 8

Moving to compact
decomposition as Year 5 for more
able




Subtraction

Year 5

Partitioning

6.76 —0.06 = 6.7

Using mental
calculation by
counting back

Difference
Use bonds to 100 to
support

Column subtraction

Add and subtract |7.47 — 0.4 = 7.07 8 7 56 15
numbers 45678 - 3500 = 42178 |£10 - £7.71 = £2.29 Use
mentally with _ . 9 2 4 8
increasingly 45678 — 3000 = 42678 |a number line or
large 42678 — 500 =42178 |jottings 9517
numbers eg 5-
digit — 4-digit
multiple of 10 £7.71 £8.00 = 29p
£8.00 £10.00 = £2
5.78 — 2.45 =3.33
Add and subtract
YTy 5.78 —0.05 = 5.73
il e 4 5.73-0.4= 5.33 7-245=455
igits, includin —
us%ng formal ’ 5.33-2=3.33
written methods 2.45 3=0.55
(columnar 3 7=4
addition and
subtraction)
Year 6 Partitioning Difference using larger |Difference (use mixed |As above with 5or 6

Perform mental
calculations,
including with
mixed operations
and large
numbers

4.578 — 0.008 = 4.57
6.378 — 0.07 = 6.308

numbers and
number facts

£100 — 67.23= £32.77

77p £32
£67.23 £68 £100

decimals)
6.45-1.7=4.75

1.7 2 = 03
2 6.45=4.45

digits
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Multiplication

Count in multiples

There are two apples on one plate.

Year 1 of twos, fives and How many apples on 3 plates?
Solve 1 step tens
problems O o
involving x
and + using
objects,
pictures and
arrays with
support
Year 2 Recall and use
multiplication and Recall and derive doubles
Ca|t‘;1u'ate division facts for @ :
maths
statements the|t2.’ |5 a?d 1L < 25x 2
B | tabics, including 0
within the ’ 0 5
- recognising odd LY ® e 20x2 5x2
tables and and even numbers oo
write them =
using the m . . a0 ¥ 10 =50
correct sign . .
@0000 5x4=20 25
X0 == .".. / \
Recall and Derive 40 10
00000 doubles \ /
7+7=14 50

7x2=14




Multiplication

Year 3 Recall and use 0000 Using partitioning to Scaling 48 x 3 =144

Write and multiplication and o000 multiply Making a 5¢cm line 4 times | (Partitioning)

calculate division facts for 00ed, longer

maths the 3, 4 and 8 @O®®€ . | . . . . |57x2=114 x | 40 | 8
fta‘eme;‘s multiplication (olole o 50x2 7x2 5cm x 4 = 20cm

or X and +

g | —— 100 + 14 =114 3 120 | 24
Lit:)lfvs =y Multiply single 22 e o .____'-___.___.___- A

oing 2~ | digits by NN Y

digitx 1 digit | 20,30,40,50 and | © & 15 2 KST LA )
using metal | 80 4x6=24 4x10x3o0r =144
and moving Use arrays and number lines to 100 14 4x3x 10

to written count in multiples d

methods 114
Year 4 Recall Mental 67 x9 Partitioning grid
Useplace | Multiplication and multiplication leading to
value, division facts for Multiplying by 10 and 100 x 60 7 formal compact methods
knownand | multiplication Eg. 24 x 100 540 + 63 =

derived tables up to 12 x 9 540 63 603 67 x9 =

facts to x 12 (facts for -

and=  16,7,911,12 are Thi{H [T O

mentally inc; 6 7

x by 0 and new) 2 4 69

1;+by1; x ; .

3 numbers Multiply single 437 x 6 603

digits by 60,70, 2 4 |0 0

X and —2 and 90 X 400 30 7

and 3 digit Partitioni

numbers by arttioning

a 1-digi 267 x 2 6 |2400| 180 | 42

ﬂiﬂg?érmm 200x2=400 400+120+ 14=

written 60 x2=120 534

layout 7 x2=14 2400 + 180 + 42 = 2622




Multiplication

Year 5 Multiply and divide | Mental calculation TO x TO by Leading to Compact for TO x TO
gumk_ners mentally partitioning multiplication using a
Multiply rawing upon Partitionin compact method =
numbers up to | Known facts 407 x 4 g 47 x 58 p 28 x 39
4 digits by a
one- or two- . . 407 x 4 3 7 8x
digit number | Multiply and divide o — 40 / 28x
using a formal | whole numbers - 50 2000 | 35 __ 55 ( 379
written and those involving | 0 x4 =0 0 2646 2 5 2
LISt sy decimals by 10 7 x4 =28
including long 2 (4x10 840
multiplication | 100 and 1000 X 5 X 5
for two-digit _ 10) o 10092
numbers 1600 + 28 = 1628 Or 4 x X 4569 x
5x100 | 7) L s 28 T
4570 X
Rounding and adjusting 8 |[320 |56 36552
£3.99 x 6 (8x4x > 87
_ 10) 4 846
£4 x6=£24
£24.00 — £0.06 = £23.94 34 0 2
453 6 0
2819 487 6 2
28 x 10 x 2 = 560
560 — 28 =532
Year 6 Perform mental Mental calculation
calculations, 3749 x 38
Multiply multi Lﬂf}'(g‘é':%gggons Partitioning
digit numbers
upto4digits | and large numbers | 2:7 X 6 3749 x
b)rqaltwo—digit 5 x6=30 53 378
whnole —
number using 0.7x6=4.2 21 2
the formal 30+4.2=34.2 299092
ritten
Vriétf?od of 112,470
long 53x 19 142 4 6 2
multiplication

5.3 x10x2=106
106 — 5.3 = 100.7
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Division

There are eight oranges.

Year 1 Can you share them equally?

Solve 1 step

DOOD
involving x

and + using
objects,

pictures and

arrays with

teacher
support 1 2 3|4 5 6| 71819 |10
Year 2 Recall and use Counting ) Division by sharing
multiplication and ® o Recall and
Calculate division facts for the 2, 5 . +C =
maths and 10 multiplication (@] ® Derive Halves 10+5
tatement i i
;soﬁfr::;f tables, including m QO Look at doubles
e recognising odd and 0 5
within the even numbers 10 15 20 ' @  of even numbers
s el @  and seeing half ¢ s e %
and write Relate division to counting and 9
them using multiplication facts. @ @ ©°fcddnumbers
gi‘enco"e"t Count in 5s to see that there are @ ® *°° left over
9 4 5sin 20. or’z
X + = o000 Division by grouping
00000 Howimany Halving by partitioning B2k
groups of five
@000 are there in 32
00000 20? Half of 20 Half of 12

\ / 0 5 10 15 20 25 30 35

16




Division

Formal division

87+6=

14 r3
6\827

Year 3 Recall and use Counting Division as grouping | Division as grouping
Writeang | Multiplication and Relate division to counting and 43+3 Halving by partitioning
solve division facts for the 3, 4 | multiplication facts. 13:3=411
maths and 8 multiplication Count in 4s to see that there are 76
fo i
s | 6dsin24 3 3x10 3x4 | Halfof60  Haffof 16
whias | Use facts for numbers | ~ m ~ ) 30 \ 8
they know | up to 10 times the ‘ " e v 0 30 4243
including | divisor Poeb s 38
2digit=1 | Fg2g+3 SO0 43
?T:ge'ttatl’?:g This is between 300¢
moving to YOOC | 30 13
written 27+3=9and
B e Araysshowbgroupsofdso T 0 Ty | 3x10 x4+t
So 9 remainder 1
Year 4 Division facts for Division as grouping Formal division Halving by partitioning
Use multiplication tables up | Combine multiples of the
5:;52 to 1212 divisor to support you 87+6 23
Known Half of 220 Half of 16
Use facts for numbers LR =
and : 87+6= 3 110 8
derived | Up to 10 times the 8.7 \ /
divisor 2
e 6x10  6x4 118
_mentally Eg 75+9 H\
'(;' gn)é tf.' This is between
2by 1: X 0 60 8487 £13
3number | 72+9=8and Half of £12 Half of £1
. 81+9=9 £6 50p
3 dzig?F Y| 508 remainder 3 87 \
numbers
by a 1- /\ £6.
digit
number 60 27
formal 6x10 6x4+3
written

layout




Division

Year 5
Divide
numbers up to
4 digits by a
one-digit
number using
the formal
written method
of short
division and
interpret
remainders
appropriately
for the context

Multiply and divide
numbers mentally
drawing upon known
facts

Divide numbers by 10
and 100

H[T|[O | 1/10 | 1/100

2|7
2 7

Division as grouping drawing on known facts

Use partitioning and known facts

196 + 6 = 32r4
180 16

(6x30) (6x2+4)

325 + 3=108r1

PN

300 24/1
(3x100) (3x8+1)

Formal (short) Division
638 ~ 8

079r6

8|66378
6725 +7

0 960r5
71667425

Year 6

Divide
numbers up to
4 digits by a
two-digit
whole number
using the
formal written
method of
long division,
and interpret
remainders as
whole number
remainders,
fractions, or
by rounding,
as appropriate
for the context

Use known facts

Know 378 is a multiple
of 3 because
300, 60 and 18 are all
multiples of 3

Know 385 is a multiple
of 7 because

350 and 35 are
multiples of 7

Short Division

638+ 8

7 9r6

8 | 66378

6725+ 7

0 96 0r5
7667425

Remainders as
decimals and fractions

493 + 15

032r13/15
15 j 4,93

04 1 3 .5
1 |4 9 15 42 . 60

Formal written long
division
242

153640
-30‘
/]
-60

—— >N

(o)}

<

(o2}

IS
o

15x200=3000

15x20=300

15x20=300

15x2-30

Use place value and
division facts

1.32 + 3= 1/100 of 132 = 3
132+3=44

44 + 100 = 0.44

S0 1.32 +3=0.44

Use tests of divisibility
Multiple of 3, digits in the
number add to 3, 6 or 9

Multiple of 4, tens and ones
in the number are a multiple
of 4

Multiple of 6, the number is
even and digits in the
number add to 3, 6 or 9

Multiple of 9, digits in the
number add to 9







